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Δ < 0       O     [Ομόσημο του α]                                             [Αδύνατη η εξίσωση] 
22 2 2x x+ +  22 2 02x x+ + >  22 2 02x x+ + ≥  22 2 02x x+ + ≠  22 2 02x x+ + <  22 2 02x x+ + ≤  

   x  -¥             +¥   
f(x)           + 

x∈  
[ισχύει πάντα] 

x∈  
[ισχύει πάντα] 

x∈  
[ισχύει πάντα] 

αδύνατη 
[δεν ισχύει ποτέ] 

αδύνατη 
[δεν ισχύει ποτέ] 

23 2 3x x− + −  23 2 3 0x x− + − >  23 2 3 0x x− + − ≥  23 2 3 0x x− + − ≠  23 2 3 0x x− + − <  23 2 3 0x x− + − ≤  

   x  -¥             +¥      
f(x)           - 

αδύνατη 
[δεν ισχύει ποτέ] 

αδύνατη 
[δεν ισχύει ποτέ] 

x∈  
[ισχύει πάντα] 

x∈  
[ισχύει πάντα] 

x∈  
[ισχύει πάντα] 

Τάκης Χρονόπουλος                                                                                                                                                                                 parmenides51.blogspot.gr 
 



Εξισώσεις κι Ανισώσεις 
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